Name Date Period
Solutions/Concentrations Worksheet #2: % Composition & Molarity

1.1f23.0 g of sodium chloride are dissolved in 234 g of H,O , what is the percent composition of solute in this
solution?
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2. Calculate the molarity of a 1300.0 mL solution that contains 285 g of SrCl,.
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3. Calculate the molarity of a solution that contains 20.0 g of sodium hydroxide dissolved in enough water to
make 0.500 liters of solution.
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4, What is the mass of solute in 445 mL of a solution if the solution is 75.0% water and the density of the
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5. Calculate the mass of sodium sulfate in a 25.0% solution that has a mass of 500.0 g.

RS St
954 2as®h | T2 o Seim 2= =
oo e, P IS H - 123 > 279
6. What mass of potassium nitrate must be used to make 3.00 liters of a 0.200 M potassium nitrate solution?
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7. How many milliliters of a 6.0 M hydrochloric acid solution can be make using 72.3 g of hydrochloric acid?
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8. Ammonium nitrate is a common fertilizer. What mass of solvent (water) must be used to make 1500.0 gofa
5.00% solution of ammonium nitrate?  f> Hy poo o
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9. Calculafe the mass of lithium chloride required to make 0.850 liters of a 4.00 M solution. _
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